Reliability (IOA) Practice

Target: vocal Tact/Echoic “Eeyore”

Instructions:

Session: Circle “C” correct or “X” if incorrect.

I0A % (Percent Interobserver Aggreement). Circle “Y” if match and “N” if no
match. Calculate IOA = #Ys | #Ys + #Ns

Trials Session 1 I0A 1 Session 2 I0A 2
1
cC X Y N cC X Y N
2
cC X Y N cC X Y N
3
cC X Y N cC X Y N
4
cC X Y N cC X Y N
5
cC X Y N cC X Y N
6
cC X Y N cC X Y N
7
cC X Y N cC X Y N
8
cC X Y N cC X Y N
9
cC X Y N cC X Y N
10
cC X Y N cC X Y N
# correct % IOA # correct % IOA




